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DEPARTMENTAL EXAMINATIONS (COMPUTER BASED TEST)

| Departmental Test in the Manual of |

Name of the | Firemanship for Officers of Tamil Nadu Fire 053

Test: iand Rescue Services — First Paper L
(Without Books) o

Y

Maximum Time: 2.30 Hour Maximum Marks: 100

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
Qarem@m euemns eleaTmgGmen
Read the following instructions carefully before beginning to answer the
questions.
aleninésEheHE ellmL Wef&ases CETLRIGD (P Sp&a6nL sMiampsHeners
SHEUTILONSL Ui H&Hey LD

1. This computer based Test contains 100 number of questions in objective
Type.

Anasd sl eufis GCoisumsg) 100 Qana@n ausmsulsonsr afanméeemens
QaITeiILg).

2. Answer all questions. Each question carries one mark
SMEHG eNeEHEHGID el weaNéseyd peuteurm eflsomeyd
OSICILIGTET 2_6HL LG,

3 In case of doubt, English version is the Final.
aflenaaailsd #HGHHL Qe guflev aigailed QaTE&ESULL BeTen
efleindsGenr @mHuwinen g

4. Words of masculine gender in these questions shall, where the context so
require, be taken to include feminine gender.
e alamsaefled @b Qubmieten guem LTSS SR NS HafeL
CoemeuliLigss, GewHGasmHU  CQuen  umedlam§ s euflstt  sunidhangsEnLb
SILmIGLD

5. Before answering the questions in CBT, candidates should read the following
instructions displayed in the monitor:

llegneamiuugTrisHen  sawsll aufls Csialmg oL welésd QST
(per  saelullar  Hangullsd Camamib  SIfeysMISHmET  SEURTLONGL
Llg &&a)LD.

a) One guestion will be displayed on the screen at a time.
Gy Cursded @ allamm W GG safafs dHenguiich Cemsimyb.



o
.

1 Cubic meter of water equals to
(I &&T OL LT SERTERTT GTahm_ig) ?

1000 Litre (B) 100 Litre

1000 &l 100 Sl Lfr
(C) 10 Litre (D) 10,000 Litre

10 &Sl L fr 10,000 &SC_ i

What instrument is used to measure atmospheric pressure?
cuatlnaro Spsssdlenan ardsuLweTURbD Shedl

(A) Lactometer Barometer
arsGLm B urGgm WL
(C) Ammeter (D) Voltmeter
ST YT TR Geumébl B L

Calculate the motor power of a pump delivering 2400 litre of water in a minute at
pressure of 6 bars.
6 UNT SQESEHD @@y BBl gHo 2400 AL gameantT GeualGupmib Libfer sekmamth
Spenar seatsdl(Hs.

24 KW (B) 20 KW

24 £lGam sumL_ 20 £Geom el
{C) 26KW (D) 30 KW

26 &G curL. 30 &Gem eum’

Jet reaction takes place in
Qg eflenerey ghLIB U

(A) Hose (B) Branch
Freli® Grpmu GIL!

\(9)/' Nozzle (D) Pump

Biréle : utby

Which of the following is not a positive displacement pump?
Sp@Ou Herar ubysefier Crioenp @LUELWRES Qeliwrg Liby ?

Force Pump (B) Lift Pump
Gumirely LbY UL wiby
(C) Rotary Pump (D) Ejector Pump
Crmifl uy Geueatigeremid LitbLy
3 029/DD/23
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6. Find the value of water in a tank having length of 7.5 metre breadth of 2 metre and
depth of 1 meter? '
7.5 Bl Beraph 2 BLLi Sisepd 1 Broi P CsTaEr,  Brolsmigulled
SehmentNen oeTay eTesan ?

y/’ 15,000 Litre (B) 5.000 Litre
15,000 eNL_L T 5.000 &SI
(C) 500 Litre (D) 50,000 Litre
500 edlL L 50,000 &Sl

7. The Ladder used to rescue people from high rise buildings is
YUSEISSTOMSED 2 WITDTYs Sl kisafld o drer wésemer BL sl LweaTL@Ib eremf ?

(A) Single Ladder (B) Extension Ladder
@hep ereanfl By genf
(C) Hook Ladder U turn Table Ladder
Qarsdl oenfl &1per Guengy erant]
8. In our department Inclinometer is used in which type of vehicles?
mBlogl gieppuded Inclinometer apg cuens sarduied LwearLRSsLILGE DS ?
(A) Water Tender (B) Foam Tender
Brgmiudl cuakig ST cuay
(C) QRV urn table Ladder
g Mg QArdueiivly eursennd &lped Gueng erent]
9. Boiling point of water is
Efen Qardlflena ereucueray?
(A) 120°C (B) 90°C
120 Geoflwen 90 GFodwien
©) 80°C 7 100°C
80 Gaddluwe 100 GQaddwien

10. What is the upper and lower points Marked in Celsius scale?
Qeaflwer eteyGareld @GHlsasliur Reter @GeopESULFD WHMID HHE ULFD eTey
T ?
(A) 0-200 (B) 100-200
0 - 100 M) 0-150
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11.

12.

13.

14.

15.

16.

1

What is the temperature range measured in Fahrenheit Scale of temperature?
urgerad. Qeutiuflenawrenfludien epob SerdslLBn Qeuliufleaouien elés ereiaiare)?

32F - 212 F (B) 100F — 200F
(C) OF — 200F (D) 212F — 312F

Which is the Formula used to convert to Centigrade to Fahrenheit?
EpEHUGQerer Gaflrnsaic Qe dGre siereSl nallmbg Lmraall & wIHmD
&S0 ergl?
(A) _ F=(Cx9/5)+32 (B) F=(Cx9/5)+32
F =(°C x5/9)+32 D) F={Cx9/5)+23

Zero on the Kelvin scale is
Qaceller oeraCamelles Lgsduib ereniig) arangd @NHlsE0 ?

W~ 913°C B) -274°C

(C) +274°C D) -765°C

The SI unit of Heat is
Geutingdler SI e

(A) Calorie ‘M Joule
&Gevirf : 706

(C) Newton (D) Centimetre
Byl e Qeamg S L

What is the equal value 1 calorie of Joule?
@@ &Garfl aaTug) adFman SraEGEF Fdlb ?

,,(Af’ 4.18J B) 5.18J
€) 6.18J O 7.17d

Which one of the following has the maximum specific heat capacity?
EpsEeHuldl Giarer Qumpl sefled gan@euliu gphusdmer sifab Garam GuUrher agl?

(A) Copper (B) Aluminium
STLILIT Sigfleflwib
(C) Iron g Water
By B
5 029/DD/23
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17.

18.

19.

20.

21.

What is Inwar?
@eaImT GTehTUg

Nickel Iron Alloy (B) Copper Aluminium Alloy
f&sd, @by soama Ceby, sguflalubd saema

(C) Lead Aluminium Alloy (D) Steel Aluminium Alloy
sTihub, e llaflub sweana aurmmby, saflafub swame

Which law explain P1V1 = P2V2?
erpg efilfl P1V1 = P2V2 aran afleuflsdlenmgy 2

Boyles law (B) Charles law
Lmdled afid gnreven eildl

{(C) Newton’s law (D) General Gas law
B, e a4 Cungeumer aumu| el

The heating of an Iron rod causes
@by sbllew GELDmIeugTd Hspeug) ?

(A) Flash over (B) Convention of Heat
srGer LpM erflyd Hlene Qauliussd reiss

(C) Radiation of Heat S!V’(Ionduction of Heat
Qeutingseard QeuliussL_Sgeo

Which of the following metals immediately react to the water and releases Hydrogen
subsequently?

EpEiuQr L o Consmseller gamafLer o Lanqurs deoaryfibg enapi Fmener
CeuafiCuppieugl ergi?

(A) Cobalt (B) Iron
GasmumeL @my
MOtassium (D) Tin
GurtLrdwub =

Which element ignites at ordinary room temperature?
grgryen GestinBlencouller erfluyb Fmer o drer gaflow ergy ?

(A) Gold Mhosphorus

ShIGLD ureLITen
(C) Platinum (D) Silver
Sermi_ig @ &leveur

029/DD/23 6
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22.  Plain and Twill weave is related to
grgryent Apsey whHmb Werard Qpsa) eremg asaL 6 QST e g ?

\M Manufacturing of Hoses (B) Construction of Ropes
Bred @ @umi swurflgsd sllg suTAgsa
(C) Construction of Branches (D) Construction of Pumps
SHlener @prl surigse uiby swrfgse

23.  Which one of Fire Extinguisher is most suitable to use in Kitchen Fires?
Ehsa_cuppiet s ues Sumeniiune sewwump § ausms easwuTer Anhes ?

(A} Foam Extinguisher (B) Water COz Extinguisher
Bleny Sweneniig samentt COg Swenentiq

V CO2 Extinguisher (D) DCP Type Extinguisher
CO2 Swenanrindl DCP auans Swenenring

24. Burn — Back Resistance Relates to
Burn — Back Resistance eréirigy ergan e Qgmiimyenwig; ?

Quality of Foam (B) Quality of water
peoguilesr Sy Bflem Hib
(©) Quality of Gas D) Quality of CO2
cumuyaller siyLd STTUET—eDL—Z,EEEIG.6 STLD

25.  Starvation is the process of
Ul elGUTRBED eremLg

(A) Limitation of Heat (B) Limitation of Oxygen
Qeuliuigens &L HLILRSSISD grhenn SHUU(hSgSe
Limitation of Fuel (D) Limitation of water
erfiQummenar &L HiliuRESISeD FIULSSMSE & HILhSSHIS0

26. Extinguish of burning oil fire can be done by
@0 o § duses sLOLUHSSD (oD ?

(A) Starvation Method ﬂ”Smothering Method
Ul igefiGurRiged (penm ep&e Sl SFH (LpenD
(C) Cooling Method (D) Heating Method
@afiflellgsd pen QeutiutiuBsgse Wpen
7 029/DD/23
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27.

28.

29.

30.

31.

As per NBC Automatic sprinklers are compulsory for Basement if area exceeds
Csélu sligL efifigpepseflariy (NBC) erduauerey uptiuatelng Cué oiflsworarmd
georsD gargdlig sraflund Ggefliurenadt s muwrssLLC HieTarg ?
(A) 100 m? (B) 500 m?
100 B8’ 500 8 Li”
200 m2 (D) 1000 m2
200 S i” 1000 Su i
Refuge are shall be provided in Building, if height of the building exceeds
S &sl ugd (Refuge) ereucueanay 2 wisdig Cuerer &ligl RSEHEE HMWLESILL
Ceuar(pLb.
@A) 15m G 24 m
15 S 24 B
(C) 30m D) 45m
30 S 45 B
What is the Abbreviation of PTO?
PTO-6r e9flaungaid eraes
(A) Please Turn Over M Power Take Off
(Cy Please Turn On (D) None of these
Which one of the following does not comes under the Type of Primer?
Sp@duc Gearereupdler et GeoTo Gfleveus sTrmsg ?
(A) Reciprocating (B) Exhaust gas Injector
QrAyQrrGaL gk aacvanevl Geev @ erblmsLi
(C) Water ring ﬂr‘ Power take off
eurC_L i M veut GL& 0
What is the Formula used to calculate water power in Hydraulics?
EflGefled gemrentien Hmanenr sarTL M LweTLHID GSHTib ?
A7 WP = 100xLxP/60 B) WP = 60/100xLxP

(C) WP =60xLxP/100 (D) WP = 600xLxP/100

029/DD/23 8
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32.

33.

34.

Positive pressure Means
Cpiroenp S(PSsd eTeLig)

(B)
(©

D)

Higher than atmosphere pressure

cueflar e ipsssHs 1L fls D(PSsD
Lower than atmosphere pressure

cuafiDeRTL & DI(WSSSMG L GMDeUTET B(PSSLD
Equal to the atmosphere pressure

auaflnaTL e SIWPSEEHDE Gevarmurer 2 (WPSsD

None of these
Cup@iudl L ggblldena

When Back Pressure of Pump happened?
uber e sissb (Back Pressure) eriGung ou@dps: »

M Hose 1s taken up by means of ladder

(B)
(©)

)

swrenw genfl auflung Guwe ahidgs Qeogin Curg

Hose is taken by rough surface

GSPrew sgeriiuriy eulluns a®sss Qedgin Curg
Hose is taken by soft surface

GWrevw euareuerliurer culflwung ThiggF0Fog D Gung

Hose 1s taken by Water
GpTenw gerent(nL e aT(RSgF Gewaid Cung

When water 1s moving through a hose is suddenly stopped, it’s damaged the hose.
This 1s due to

Gumied Ceauswrs Csogd gaveateary Segear shss Hosdemd B A @om
urdlliuerL b @FHE SMreRTd

(A)

(

Loss of weight {B) Loss of pressure
STEL (HEDDSED SIWPHSD &DDSD
ater Hammer (D) Friction Loss
eum’_ir Camwoi o_Tmite| @priy
9 029/DD/23
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35. Which statement is correct, regarding friction loss?
Ep@Hua Geararaiphier abs ambp e rriey @poy GHiss sflureng 2
Friction loss increases with increases in length of pipe
G@wmlen Berb ofafss opriey @pliy Hafssn
(B) Increase with increase in diameter
Gwrller efC1_b iflsfés o griey Gy sifafs@n
(C) Decrease with square of velocity
Gemufler FCrmiLb @mwy afafds 2 griey iy Gepy
(D) Decrease with roughness of interior of pipe
@wrdler 2 L Lmb syeriurly SSefés e grie; Qi Gempyn

36. Drenchers protects the building from
14 @ yeFieny — LTgSTLILg

(A) The building from internal fire
sLigL gdldr o Lpsdld gpuGL SWidmbs
M The buildings from External fire
sLigLghlen eefiipgddr gpuBnb Suildimbe
(C) The building all over
sl gL sHer Dengg LGHsaligid ghu@n Sule(mhsg
(D) No protection
UM &T&E TS

37. What is the bursting temperature of Sprinklers having red colour bulb to

extinguishing the fire?
fauiy P odrar way Qur@mdsuul Gerer Frs@gefliuurer eabg Geaunufleauid
Qe &g Sew ienemd@D ?

@A) 57°C & 68°C

(C) 79°C (D) 93°C

029/DD/23 10



38.

39.

40.

(A) Dry upright type
g &T BHLeNTL U

(C) Ceiling flush type
Fllmy Liemely euans

The Length of Escape Line is

erevCals eneaflan fHerid
( 15 ft — 20 ft
15 — 20 S HeTd

(C) 40ft-50ft
40 — 50 =i Herbd

The length of Long line is
i eneverflelr Herbd
(A) 1501t

150 sig Bemib

100 ft

100 i Hemibd

11

What type of Sprinkler is in the following picture?

Mry Pendent type

igepy G auens

(D) Sidewall type

anF(Heura) euens

(B) 9ft—12ft
9 — 12 By Berid

(D) 100 ft
100 Ijig Hemid

B) 200 ft
200 @iq farid

D) 15ft
15 @iq femd

029/DD/23
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41.

42.

43.

44.

Hydrogen burns in air (or) oxygen producing
el TR sThE () Asedlgea et Gaigg erfuyb Gurg QeuefluliBeug) ?

(A) Low temperature (B) Low pressure
G@pps datiufle GODDHS S(PSSD
High temperature (D) no reaction
2 wiff Geutiuflena slleneryflwirg

Which of the following detector is not comes under smoke detector?
EpEOulLtul Getar e el amelsaile) g Lens searLflel smelsafia sryrsg 2

" (A) Beam Detector (B) Ionisation Detector
Sib ser el Sjwemtl searLHled
(C) Optical Detector M Infrared Detector
LI585 segrL e SisFfleuiy serL_Hled

Italian hemp, Manila, Coir, Cotton are used to manufacture
@ssredwenr  Ganibll, werflor,Cemaruprr,  ariier  Gumenmm  Qumplser
Gereu(meuareupmueT ergl sumfliugh@ uweatuhid g ?

(A} Delivery Hoses P Ropes
B Q@ @pmi S misar

{C) Ladder (D) Suction Hoses
il geir 2 MIEGHE (GHLPI

What is the capacity of Knapsack tank?
prigner GLmidler Qsmerarare, ereter?

(A) Upto 8 gallons {B) Upto 6 gallons
ST eUen(y B STELEN SR
Upto 4 gallons (D) Upto 10 gallons

4 SHTCUEN Guen( 10 STEUGH GuUenTy

029/DD/23 12



45.

46.

47.

48.

Dust Explosions Possible to happen in
grél Geutiy erpg Qewdapapseiier Hawemn?
(A) Chemical Process
Caudllilwed Qaweopepsaien
(B) Biological Process
2 iflud Geudapapaafiod
Grinding and Pulverising Process
Siewrsg wHmib QumgwréEn Geudpapseid

(D) Physics Process
GupQwd Ceudaipapasaio

Which is the false statement, regarding the properties of CO2?
EpEHAUGALUUED Ut seld g amuaT-@mL— e LHH Feupreg) ?

(A) 1.5 times heavier than air
srHenn Ml 1.5 WL KIG Sanreng

(B) Colourless Gas
Hlpwpp eumyy

(C) Completely absorbed in lime-water
Famemmibyy Ffléd (ppenbwrss: samruybd

MOisonous gas

B&S eUITW|

Which gas 1s used as a refrigerating agent in cold storage?
Gaflgp_ G Blavawnrsaila @eaflep (b eumuyeurs LwETURSSILHLD GuTL 6T ?

Ammonia (B) Chlorine

SIhCwreflwir &Germifler
(C) Methane (D) Ethane

BsGgen &G g6

The length of Extra Long line

eTéevL T el epavafler Fem 2

(A) 40ft—50ft (B) 150 ft
40 - 50 @i 150 @i
©) 151t OrLs0 ft — 250 ft
15 =g 150 — 250 =g
13 029/DD/23
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49.  What should not do, while handling acetylene cylinder fire?
S8l g edlerr 2 (pemaruded ghuid § fugdeCurg Celiusen g 7

(A) Cool the cylinder

2 (HeneTenwl @&efl Teilgged
(B) Move the cylinder to open space

2 menatenuwl Fmps Ceualiuier eT(RSSHEFCFOEHD
(C) Immerse the cylinder in a tank of water

2 meneTenw gamentT GLudld 2 fipsgisad

Place the cylinder in closed room
D (HEnemenll eplgul HenDHUdld eneusFe

50. Oxygen liquefies at °C?
Qeutiufleneouder sy sabdigen BiwwomEgw ?
(A) -110°C (B) -112°C
(C) 100°C G2 183°C

51. Which of the following chemical water should not be used?
EpEPudLuupn Cafulue Qurmlseie enGurmeiiar Bg seamerft LwaTLHSSS

FLLTEl ?

(A) Camphor (B) Calcium
6. 31 YY) sréFb

(C) Naphthalene W All of these
BrLiiged e Gy DRTSFHID

52. LPG consists of
LPG cremug
Mixture of Butane and Propane
Qyy Cer wppid HYQrmuGuer saweare
(B) Mixture of Propane and Methane
HQrmuGuen wHYD WECHE sa@ma
(C) Methane only
BgCse wi_{Hid

(D) Propane only
HGgmuGuelr il Gitb

029/DD/23 14



53. Marriage Halls, Community Halls are classified under Group of
Buildings as Per NBC?
Gsélw syl eflflperpaefianuy (NBC) eqpsmu salmiser, Smwen wabrl_ Likiser

& eueaslIL(RSSLIUL Biererg ?

@ D1 27 D3

(C) D4 (D) Deé

54.  Court Halls are classified under as per NBC.
Csflw sl efpepseaiary (NBC) fdwdam &L msd eaps eamsla &
eenslIupSSLILL(HeTeTg) ?

(A) GroupA (B) Group B
&emL A el B

(C) GroupC G Group E
@ C ' &l E

55. As per NBC 2005 the width of the staircase for assembly buildings are?
NBC 2005-aruig oGsbdefl sigl misafler LwaTLRSSULEL Lig&Esl Hisafear s ?

M&Om B) 1.05m

2.0 Sco 1.05 B
{(C) 10m (D) 25m
1.0 B 2.5 Bl
56. “I am used to join two lines of unequal thickness”, who am [?

“wren @(m F0 sar ufbrerndp sulgsenar @eaursaiiuwarGGeaudr” prear wmi?

(A) Draw hitch (B) Water men hitch
gy @bl & aur’ L iGwer abl’ &
(C) Fishermen Bend Mngle Sheet Bend
SenirGwer Guam Srudlar ed Quam
15 029/DD/23
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57.

o8.

59.

Identify the types of itch

HS GUDS (LPlgFe GTemLINS SeiorLi

(A) Halfitch Clove itch

Bhoolt & Hllerreu S &
(C) Timber itch (D) Chair knot
g DLIT EIL & Car pig&a
Where Drenchers are not suitable?
g Qrenaren et HipestiuBeudlaeame ?
(A) Roof (B) Wall
ST EHET &eutled
(C) Window PP Inside the Building
seimemadléd sl L Sl o L ypsdle

Which type of extinguisher system is suitable to install computer center?
seflafl fipeuarsSne aps s, Suamaruurarsdr flmeeug slUregs @) (mEELD ?

(A) Foam type (B) Water type
BN aUenE SR GLENS
COs type (D) Water CO2 type
COgz cuens samenti COz cuenda

029/DD/23 16



60.

61.

62.

63.

Helipad provision should be made in the building if height exceeds

QanalGul eusd 5 2 uigsHhE Cod oder slyhiseld SiewssiuL
Geuekr(pib ?
( 60 mt (B) 300 mt
60 S 300 B
(C) 50mt (D) 100 mt
50 B 100 S
Fire Drills shall be conducted in high rise buildings once in months.

o Wby &Ly Bisefle) ardgeaman WIShIGEEEHE @@ Pop 5500y WD (Fire Drills)
Br$slLL. Gauam(pib ?

(A) 4 months \M months

4 LISRSEEES R (PO 6 wishisEEsS @O (PO
(C) 12 months (D) every months
12 wrgrhigsEsse@ e (e geulleum(m LOTS(LPLD

For fully sprinkler system installed buildings travel distance may be increased by
ppeugiy greflumdl Ggefltiurerser Qur@BssiuiL sl e Lweanginbd (travel

distance) eréusuerey g BLgssliLL erb?

(A) 40% B) 25%

40 Fgeligbd 25 #56igb
( 50% D)y 75%

50 gg6S50D 75 sgaigd

As per NBC, Group A Resistance buildings are classified into how many sub groups?
NBC &g, @mu A @quiGly s SLqhisdr ai55@ar 6ueas Fenam (GaHU
s gL migerna \Gfss0UL BeTearg) ?

SO Alto A6 (B) AltoA3

(C©) AltoA4 (D) Alto Ab

17 029/DD/23
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64. Which equipment is used to rescue people from high rise buildings?
2 wifomg &llgl hisefley 2 drer pufEaner B sl LU smed 6Tg) ?
(A) Water tender (B) E.R.T
B gl eueiriy ER.T
(C) ORV Turn table ladder
gifis Grdluelluy eursenn &1pa Gens ganfl
65. The following terms belongs to
() Head
(1) Heal
(iii) String
SpEiunLtiul Qereranel arsanL e QgTL_TenLwg ?
(1) D
(1)  Sgunsd
(i) Go&EsF FL LD
(A) Rope Madder
sullp) oyamfl
(C) BA Set (D) Special Equipments
AP FFESH(HEN fpliL&smellser
66. How many knots are usually practiced in Fire service?

Swepemliggeopuiler Qurgeurs LLSTURSSULGHD iy Fasailen erameamaamns ?

O 23

©) 30

(B)
D)

67. The triangle of combustion consists of

arflgd p&CaramggLer GsmiyenLwg ?
(B)

(D)

Oxygen, Hydrogen, Heat
<y sedlemer, engmL regetr, GeuliLid

Oxygen, Heat, Fuel

(©
&ailgger, Qauliu, erflEummer

029/DD/23 18
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Oxygen, Methane, Heat
o defisen, BECHe, Qeutiub

Oxygen, Methane, Fuel
< safiemer, BgCHer, erf@ummer



68.

69.

70.

71.

72.

Mildew occurs in
enLedig iy, erpuhieug

Hose (B) Rope
Brefl( (gLpm slmy

(C) Tyre (D) Branches
LU Slenar @Lpmus

Distress signal unit is provided along with
avig e Hsare wefll ererug ereuhd erhg s@mefliyer QsTL et wig)

B.A. Set (B) Fire Tunic
epFEHSHS(Hed g oL

(C) Helmet (D) Water Tender
FEEd HEUFLD prgmiidl euasryg

CPR means

CPR eremug

%( Cardio Pulmonary Resuscitation

(B) Criminal Procedure Rule
(C) Current Pulse Recorder
(D) Calorie Percent Recorder

The vapour density of Hydrogen is
el rgmeafer el L& erer

&( 1 B) 10

€ 15 D) 2

Up-draft in chemicals causes due to
SpssamLamausaties Up-draft ergen epad ghu@Epg 2

(A) Conduction (B) Radiation
QeuliuGEL g Qeuliu sdlireliaed
Convection (D) by cooling
QeuliLi§ FevaTid @etlirell S5

19
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73.

74.

75.

76.

77.

Which of the following is not an oxidizing agent?
EpERuACaipmer argl ysalimGarpm srrent w@ida ?

(A) Chlorine
&Gearmifler
(C) Sodium
Gaimig b

What is the total length of Hook Ladder?
dar&dl ganflufler Quorgg Berd erecusmey ?

M.l meter

4.1 S

6.1 meter
6.1 Scor

(€)

(B) Nitric acid
enplfé =blab

Methane
155G et

(B) 5.1 meter
51 8w

(D) 8.1 meter
8.18cLm

What is the principle used in Foam Extinguisher while Extinguishing the fire?
meny SwereTliLTen arhd sbgieusdler SigliLan-uled Saow smansdng)

(A) Starvation
Ul igefluGurige
(C) Cooling
@eniialigsd

Smothering

epés Semyiq S5
(D) Separation

Mfgsrapd (e

The primers are important for which of the following pump?
ThG euend LibL|&g Weppnien (p&fluinrersmELb ?

(A) Jet Pump
QgL bl
(C) Force Pump

eflen& LD

The study of behaviour of water is called

(B) Piston Pump
Sefvi_esr LbLy
Centrifugal Pump
Qe My ser Lby

gasantiien LigL&Eer updl U@ WNeler Quuir ereren?

Hydraulics
evan L Fredl&en
Kinetics
OEHETL_Ig &E

(©)
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(B) Water Theraphy

setantt Qg

Dynamics
enL.arndl&av

D)



78.  Ultraviolet detector is a type of

LpeagraSlt sar®h Dy liuner erelcuana Seor(h 9 g LiLimes?

Radiation detector
sfliaiss samH N umer

(B)

Flame detector (D)

Baurene saw(HGig LLiTe

(€

79. Types of B.A. sets are

apasamelllien euanasafldr ey

M Closed Circuited, Open Circuited type
gy &OHN LHNHIL HPHE FHH s
(B)

Centrifugal Type
(€)

aww Crirds, cuans

Centripetal Type
e clla&EE cuams

Poly Circuited Type
U &FOHm s

(D)

Smoke detector
Liena seir(hGlig LiLimesr

Gas detector
eumw| s g LI e

80. DPercentage of Oxygen in the atmosphere is
aueflair_wsdgiarer g safimafiier sgaigh ereucuerey?
Ay 16% B) 17%
16 #56igD 17 #geisb
C) 19% 21%
19 sgeligib 21 56D
81. How much does a Gallon of water weight?
e gallon geawenfflen arenL ereucuaTeUTS @MHESLD ?
(A)  8.00 pound \@‘)/8.35 pound
8.00 veyesr 8.35 ueyehr.
(C) 6.00 pound (D) 9.35 pound
6.00 uajerr_ 9.35 veyer_
82. What is the standard Nozzle pressure for handling Fog Nozzle?
uafl epsEaer Ceuamar Qaeugng Qurgieuns QsTRESLURD &G H(WPSHLD erear ?
(A) 50ps1 ~&) 60 pst
100 psi (D) 200 psi1

21
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83. What percentage AFFF is best suitable for Hydro Carbon Fuels?
e Gy sriuer erflQurmesse Qunmsswrar AFFF meor ssalsn eenar?

(A) 10%

10 #g6igh
€C) 6%

6 §FaigLD

84. “Sheer Stress” related to

B) 8%
8 §56ig D
3%
3 FHeigD

“Sheer Stress” ergenLe QgriiyenLwg

(A) Water
ainrewtir

Foam
[GTEl

(B) Powder
DTG

D) CO;
COq

85. The range of droplets produced in water mist technology is
am L Hlev. Qamieprusded 2 pusdumgd savatt geallsellar & oo

GTGUGUGETEY @) (H&HEHLD ?
(A) 50— 100 micron
50 — 100 enwn&mer

(C) 100 - 200 micron
100 — 200 enwéirmer

80 — 200 micron
80 — 200 enw&pmer

(D) 5—50 micron
5 — B0 enp&rmest

86. What is the maximum area covered by an automatic sprinkler installed in ordinary

hazarded buildings?

@ srgTrem @LIun@ Qararl sligl e Hpeuiul Giarer em sraflumd Ggeflliumer

GTGUGUETE] LITULIGTENG ep&wm(ehiDd ?

(A) 9m?2

9 S
(C) 21m?2

21 Br

029/DD/23

12 m?
12 B2

(D) 10 m2
10 B2

22



87.

38.

89.

90.

91.

Light scatter type, obscuration type are which type of detectors?
Light scatter type, obscuration type Gurenpereu eréucuansimen samLdlelser?

\V Optical Detector

S LIgEeT S dlel
(C) Flame Detector
S&a1_ sewL_gel

(B) Smoke Detector
Lens serL el

(D) Heat Detector
Gleuliuth ser_Mled

Which one of the following system does not come under type of fire detection and

alarm system?

& @Ol Barer euenssefler ergl § sarrHluyb wHmib aésfsms FeLyb smed a2

(A) Conventional
&6HT6L GIT QPG 6D

{(C) Intelligent
@) em_edlGlggenr

(B) Addressible
SLr&dé

Memi - intelligent

el — @emellmenav

The critical temperature of carbon dioxide is
&MTLET — L — ydenevigen wrmyblene QeuliLiflene eremer?

(A) 41.1°C

41.1 Qs dFwev
(C) 11.1°C

11.1 Qoeardlweh

(B) 21.1°C
21.1 Qs wsv

31.1°C
31.1 Qeeoflwev

Which of the following plastics released very large quantity of smoke during fire?
Yereu(meuameapmeT eThE euans aTmligd SularCung) & s Lensew QeuelCuibhmib ?

(A) Poly Carbonates
umedl &rrGurGart_ s

(C) Phenol Pharmaldehyde resins

Germed Limromedigananl Gydleben

All metals are solid except

Poly Urethanes
umradl iy MECger

(D) Polystyrene
umredlev e

arhg 2 Canssamss ey wHm Semarsg o Comanisesbd S Hleaould 2 drerer?

(A) Sodium
Gamiguib

(C) Gold
SRISD

(B) Potassium
QuriLrdlub

M/Iercury

unNgrew

029/DD/23
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92.  Which knot is used to lower the insensible persons?
Wemaupauaraupmier ehs  (pusE,  swheaddaoors puismar Cuallmig Efnés

vweru(RiE mgl 2

( Chair knot (B) Reefknot
GCaim B ool BTl

(Cy Draw Hitch (D) Rolling Hitch
Lgrw &L & Crmeliy fl_&

93. The length of Bobbin line is

umien euena sulmBlen Herd eremen ?

(A) 100 ft (B) 120 ft
100 g 120 =9

pr‘ 130 ft (D) 140 ft
130 =14 140 =g

94. What is the maximum height allowed to construct mercantile type buildings?
cuenfls euans & gL b ereueuaTe o ITD eueny &L L LIu(ReushE SigwdésiLhidng ?

(A) 50 meter (B) 45 meter
50 B 45 Bc i
\V 30 meter (D) 25 meter
30 b 25 B

95. The minimum staircase width of Residential Hotel buildings 1s
Camm’ Léd eums &gl higafler @résCeuamgw ugss’ Hsaflear GapbsULE B&OD

GTEITEn ?

(A) 1.0 meter , ME) meter
1.0 S 1.5 S

(C) 2.0 meter (D) 1.25 meter
2.0 S 1.25 Suor
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96.

97.

98.

99.

What is the size of mains to be provided for Hotels above 30 meter?
30 BLimegh efswrer e wugepder GCapmiLd SlGLAsERSEGH  QuTmssILL
Ceueiriq W gawrentit @GLmulle <yeney erebien ?
(A) 100 mm (B) 125 mm
100 8.8 125 .8
\Vwo mm (D) 200 mm
150 1.8 200 .5
Select the pump which has impeller as main part
Goudar-aw adu uEHurss Garanh Fwuduw ubleamear CabEsH ?
Centrifugal Pump (B) Force Pump
eowwCBTEE@ Ly eflens Lby
(C) Lift Pump (D} Gear Pump
CuGahmitb Litby UDHESST ULDLY
Escape Ladder means
Escape Ladder erémuig)
\M A ladder mounted on wheels
FSETLISEHL 6T @enarTaeElLL L erenf]
(B) Aladder mounted on platform
BenL_GoenLuwjL et @enemdsIuL L eraw]
(C) A ladder mounted on water tender
Bigmrdl euamiq e @enemssliLl L erenfl
(D) A ladder mounted on ERT
Sjeugrare WLy saidluLer @eemdsiiul L erenf )
The percentage of Nitrogen in the atmosphere 1s

auafian_agdd o drer enpL TRl sseligh eremer ?

Aa) 17% mg%

17 ssalisid 19 szalsbd
{C) 4% D) 21%
4 sgeligibd 21 szeisbd
25 029/DD/23

[Turn over



_at

100. The freezing point of water is
Filer 2 emphlene Lerell ereucuetay?

(A) -3°C (B) 4°C

—3° QeoHwen 4° Qrdflwen

Mc (D) —10°C
0° QFédlwev —10° Qgeédwen
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